Math 260 — Quiz # 4d
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. Let ¥V be the set of all vectors (x,,x,,x;)in R’such that x, =0. Prove or

disprove that ¥ is a subspace of R”.

(1) Z&{ U, VEV, So A UC (?C,,,,?cwxj) , v:(:J”jz/yJ)
4‘«./ wof %W 7(.1 e, Z e (‘.—f’, s — (‘?{f{af )(?)/ v:[f:‘l,,a,,;>

(ﬂnﬂﬂﬂy LU+V = (?rﬁj“ ?g-é,;,?fﬁz) = (?C,«cj, > O 3%+5})
=D U+rV E V
iy LA c be any Sclle, flo - (T, ) = (€7 ,<x,, €3)

- {}(.f)ﬂ/(x,?)j Srig x,Te

e |/ w &?%ﬁﬁé :/,ﬂﬁ

2. Determine whether the vectors u, v and w are linearly independent or not, where
u=1(3,-2,2), v=03,-1,4), w=(1, 0, 5).
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